
B

Al3

F 2 2 2

7

1 3 8

B

A c

E

B Y

A

7 8

I) 5 7

6

1
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Binary

Ternary

Quarterna11y

Quinary

Senary

Septenary

Octenary  (Octal)

Nonary

Denary  (Decimal)

Undenary

Duodenary

Tredenary

Quoturodenary

Quidenary

Hexadenary

(Hexadecimal)

2 0.1

3 0,192

4 0,1,2,3

5 0,1.2,3,4

6 0,1,2.%4,5

7 0,1,2,3.4,5,6

t3 0,1.2,3,45,6.~

9 0,1,2,3,4,5,6.7,8

10 0,1,2,3,4,5,f3,7,8,9

11 0,1,2,3,4,5.6,7,8,9,A

12 0,1,2,3,4.~,6,7,8,9,A.B

13 0,1,2,3.4.~.6.~,8,9,A,B.C

14 0,1.2,3.4.5.6.7,8,9,A,B,C.D

15 0,1,2.3.4,5.6,7,~.9,A,B.C,D,E

16 0,1,2.3,4,5,6,7,8,9,A,B.C,D.E,F
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Lmslu 10w Lml;lM  2 Laa;lu  a ra0~lu  16

0 0 0 0

1 1 1 1

2 10 2 2

3 1 1 3 3

4 1 0 0 4 4

5 1 0 1 5 5

F 1 1 0 6 6

7 111 7 7

8 1000 1 0 a

9 1001 1 1 9

10 1010 1 2 A

1 1 1011 1 3 B

1 2 1100 1 4 C

1 3 1101 1 5 D

1 4 1110 1 6 E

1 5 1111 17 F
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. (1011) =. . r (li),,

!Fmh,; 2 aJlLIaJlaa%lmlu;lu 2 %i&ALau=hJYyu  10

84 32 le e 4 2 1

(11011) = - -2 1 1 0 1 1

= 16 + 8 t 0 t 2 t 1 = (27),,

P 2 1

(110) = 1 1 02

= 4t2

= (6) 10

.s .es  .zre
C.011) = 0 12 1

= 0 t .25 t .125

= C.375) 10

. . (110.011) =e va.37m1,
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5 2  x 8 = 416

4 1 6  t 3 = 419

.. . (643) e = (419) 10

ltllJ@hnn k=llJg1l4fhl

0 0

1 1

2 2

3 3

4 4

5 5

6 6

I 7

a a

9 9

A 1 0

B 1 1

C 1 2

D 1 3

E 1 4

F 1 5
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bldlJ SJulJaJ  tail  (3886) %Fj%A7mJ1aa;1u 81.

8)s

8j485  t!4w 6-

8)60  Le9 5

8)7_  t?lw 4

8)0_  trlw 7

. . (3886) (7456)=

hdl~ ~tthtaa  :;S,) l;ii~~~%~utaa~lu  81.

8)792

8)99  La 0

S)l_Z  LFlEi 3

8)L Lrlzi 4

a)o_  Lrllt 1

. . (792)  = (143cl)810
3. nmthtaa;iu  10 Iitfiutaa;xt  16

b~filJ  ~JttLhJtFd~  (2486) 1. %$h-%UL1;7U  16'

16)2486

16)155  rm 6

16)9 LdEi 11 = B

16)Q tm 9

Las  11 ?U;lU  16 t41%&l!&S  B thnu

:. (2486)

kWilJ  WtLhJ  tan t;,:, :~;&%Uq7U  16

16)  154-

16)s tdb'  10 = A-

IS,0 Ldi+  9

. . (154) (SA)=10 ld
Laa 10 'Lu;lu  16 t m'L&dfu A ttnu
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tda
Hex. digit hw%  1 Gil

. . (50405) 10 = (C4E5) 163

5
s

tanyu  2 ta0;1u  6

Bit Value 4 2 1

0 0 0 0

0 0 1 1

0 1 0 2

0 1 1 3

1 0 0 4

1 0 1 5

1 1 0 6

1 1 1 7

hlrilJ  sJttLlaJlan  (lollllloooo)z  'iii&tm0;1u  8

010111110000

2 7 6 0 n+iilU~“t& 0 hJ6il’l;inm flillF3” 3 ia,
ainwi-ii.5 4

. . (10111110000) (2760,)=2 e
niYudaJtaqw  8 ‘Liithmp 2 mCfJ = Binary Coded octal)
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am;1u  2

Fit Value 8 4 2 1

0 0 0 0

0 0 0 1

0 0 1 0

00 11

0 1 0 0

0 1 0 1

0 1 1 0

0 1 1 1

1 0 0 0

1 0 0 1

1 0 1 0

1 0 1 1

1 1 0 0

1 1 0 1

1 1 1 0

taa;1u  16 ams_m 10

0 0

1 1

2 2

3 3

4 4

5 5

6 6

7 7

8 0

9 9

A 1 0

B 1 1

C 1 2

D 13

E 14

1 1 1 1 F 1 5
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IhldlJ  wllh.?1m  (llloollloollo)z  %Lhm;lu 16

i&ixti+. 1 8::  4 dig,its 0001 1100 1110 0 1 1 0

31fl1011313~  5 1 C E 6

. . (111001110011.0) =2 <1CJ36)IS

nl'3lI&IUtaU~lU 16 ~~t8'UtiWp  2

(BCH  = Binary Coded Hexadecimal)

%~&h Wlld~JliW  (8AS)  le %ithtanT$¶t  2

8 A 9

sinni57Gi  5 1000 1010 1001

. . (249) I.3 = (10001.0101000i 2
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8. ~\?LL&IU  (15747je  =%I&AIQ~S_IM  2 tta-tm;lu  16

9. (64E5) IS = ( 7 j2

10. (6C4E5),,  = ( 7 I2

11.. (64E5) = ( 7 1,I.3
1::. (6C4ES)Ie  = ( 7 Js

13. (100010101001j  = ( 7 12 10
14. (374561 a = ( 7 ie

15. (112234) e = ( 7 j2
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